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[Matlab #:4Ef4 .
>>a=sym('a")
[ Matlab i i 2554 ] -
a=

a
[Matlab #fEa4 ]
>>b=sym (hello")
[ Matlab % Hi 4558 ]
b=

hello
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>>y=sym('x 3+5 % x)
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y=

x3+5 % x
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[Matlab #:4E A4 ]
>>syms X
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>>s1+s2
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>>sl—s2
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[ Matlab #4/Ew4> ]
>>s] % s2
[Matlab % th 552 J
Ans=
(x2+2%x+1) * (x+1D)
[Matlab #:4E#r4 ]
>>s1/s2
[ Matlab % i 2558 ] :
Ans=
(x2+2 % x+1/(x+1)
[ Matlab #Eam4 ]
>>sl's2
[ Matlab % 255 ]
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>>f=factor(x 2+2 % x+1) * (x+1)
[Matlab % th 455 ]
Ans=
(x+1)3



[Matlab #fEfr4 1
>>expand((x 242 % x+1) % (x+1))
[Matlab %t 255 ]
Ans=
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>>simplify((x 242 % x+1)/(x+1))
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x+1
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>>clear
>>clc
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[ Matlab #:/Em4> -
>>clear
>>clc

>>x=0:pi/10:2 % pi;
>>yl=sin(x)

>>y2=cos(x);
>>plot(x,yl, v+ —"x,y2,'’k+:)
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[ Matlab #2/Efr4> ] 30

>>clear 20

>>clc 10
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